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General Answer Format: 5/9/1]8/6/2[4/713
Each Sudoku has two marked rows or columns. ©P) 36 7|59 4|21 8
You need to submit all digits in the correspondin
directions,;rom Ieftttoright%:fromttoptobot’lcoom. ’ 82 411 7/3]16 59
113 2(9 85|74 6
In the example, the two answer keys are: 6 45|31 7|98 2
A: 367594218
B 283749165 8420551
All puzzles will use digits 1-9 in the submission. m 28 3|l7 49|16 5
4 16|25 8|39 7

Submission Page:

http://gp.worldpuzzle.org/content/sudoku-gp

Version:

This is version 2 of the instruction booklet, fixing a printing error in the example for 14 Diagonal Frame.
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1-6 Classic Sudoku
Place a number from 1-9 in each empty cell in the grid such that each row, column and marked 3x3 box con-
tains each number exactly once.

Example Solution

118 2|4 5918 6 2|4 7 3
6 9 1 36759 4|21 8
8 9 8 241 7 3|6 59
1 9 85 6 1329 8 5|7 46
4 3 7 8 645131 7|982
9 4 2 6 1 9 7 8426|531
7 7'5/9(6 31|82 4
8 4 6 28 3|74 9|16 5

6|2 813 416|2 58|39 7

7 Palindrome Sudoku
Apply classic sudoku rules. Additionally, numbers placed along marked lines must form a palindromic se-
quence, e.g. 12344321.

Example Solution
8 / 4 6 8 52|73 4(91 6
6 5 3 16|28 9|547
7 3 4.7 915 6/1]8 3 2
1 S 14 3|69 8|72 5
92 8(3 7 5|16 4
S 8 5. 67|14 2|39 8
3 5 6 31|18 2 7|4 59
5 2 795141/ 6|28 3
2 9 3 1 2/ 8419 5/ 3|67 1
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8 Anti-Knight Sudoku - -
Apply classic sudoku rules. Additionally, numbers placed in cells related by a
chess Knight's move (see the diagram) must be different. 1
X X
X X
Example Solution
3 ) 4 3 92|75 1|6 84
2 6 54 72 8 6|3 9|1
6 7 8 16(3 9 4|7 2 5
8 1 5 283|191 7|4 56
9 4 2 3 97 5(4 6 281 3
6 3 7 164|153 8|27 9
9 ) 6 2 9|17 3|54 8
8 5 73 1|8 4 5[9 6 2
4 2 4 4 58|62 9|1 37

9 Non-Consecutive Sudoku
Apply classic sudoku rules. Additionally, numbers placed in adjacent cells must not be consecutive.

Example Solution
2 3 8 1 4 2 7|3 68|51 9
8 1 4 86 3|19/ 15|27 4
59 1|7 4 2|6 3 8
7 3 7195264 83
8 2 3 85|17 4|92 6
6 1 6 42|8 39|75 1
27 4|16 8 3|1 9 5
9 5 7/ 936|125 1(8 47
S 4 7 6 15849 7|36 2
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10 No Touch Sudoku
Apply classic sudoku rules. Additionally, numbers placed in cells that meet diagonally at a point must be
different.

Example Solution
6 7/ 1 4 56/9[7 8 1|2 4 3
4 6 1 4 2 8|56 3|79 1
4 9 /7.3 1[4 2 9]6 85
6 7 3 9 6 47|81 5|3 29
1 7 215|193 4|8 7 6
8 3 ) 4 8 9 3|67 2|5 14
1 8 3 52|19 8|467
1 4 2 18 6(3 47|19 52
7 2 6 3 9 7 4{2 5 6|1 3 8

11 XV Sudoku

Apply classic sudoku rules. Additionally, adjacent cells containing numbers summing to 5 are marked with
a“V"; adjacent cells containing numbers summing to 10 are marked with an “X*. Adjacent cells with no mar-
king must not contain numbers summing to 5 or 10.

Example Solution
INE 56/9|7 84|23 1
3 |1 X 7x3/8|12 6|9 4 5
Vo2 x 4v1 2|59 37 68
2 19 372 6(9 4 8[1 57
x 8 97:3 15|62 4
2y 9 ] 1v4 5|6 7 2:8 9 3
o o |8 6714 3 9[5/8x2
x 3 25486 7:3 119
v v 98 3v2 517476
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12 Kropki Sudoku

Apply classic sudoku rules. Additionally, adjacent cells containing consecutive numbers are marked with a
white dot. Adjacent cells containing numbers whose ratio is 2 are marked with a black dot. Adjacent cells
with no marking must not contain numbers that are neither consecutive nor whose ratio is 2. Adjacent cells
containing 1 and 2 can be marked by a dot of either colour.

Example Solution
T, ] 75293+6 8[1 4 9
B ) N 49 6|17 2|85 3
. 'o o) 8 § 1 405 91607 2
t HNN 16 492 9 5|7 3 8
o) &n? ‘o 5 807$§?3 119 204
|9 o ° o 1302 9 758$4<§ 16
; XX 607 5[9 203948 1
i 0 :ﬁ 2018 504?%69 7
0 0 9 4038 1 7|2 695

13 Thermo Sudoku

Apply classic sudoku rules. Additionally, starting at the “bulb,” numbers placed along each marked thermom-
eter must form a strictly increasing sequence.

Example Solution
8 7 56 8|12 4 1|7 9 3
1 2 91 4|7 3 6|5 2 8
7 1 7'32|9 58|46 1
4 3 56|81 4|97 2
9 28 7|16 9 5|1 34
3 149|137 2|85 6
6 7 6 21|58 9|34 7
9 1 89 3|14 277|615
S 2 47 5|1 6/3|2 89
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14 Frame-Diagonal Sudoku

Apply classic sudoku rules. Additionally, each marked diagonal must also contain each number from 1-9
exactly once. The clues outside the grid indicate the sum of the first 3 numbers placed in the corresponding
direction.

Example Solution
16 14 24 10 18 16 14 24 10 18
9 7|12 9/3 5|16/8 2|14 7|12
19 1914 7/8|1 9 5(6/2 3
9 22 9l2/6 /114 7 3|5 9 8|22
20 13 2017 94151 6|8 3 2|13
11 11181 /2|7 39|14 6 5
17 35 6|8 2419 71|17
23 7 23|68 913 5 71|21 4|7
20 547126 1138 9]20
6|1 6 6|11 2 3|/9/ 4 8(7/5 6
12 191415 12 12 191415 12

15 Serbian Frame Sudoku

Apply classic sudoku rules. Additionally, the clues outside the rows indicate the sum of the numbers to be
placed in the 2nd and 3rd cells in the corresponding direction. The clues outside the columns indicate the
sums of the numbers to be placed in the 3rd and 4th cells in the corresponding direction.

Example Solution

3 9 6 12171610 9 8 3 9 6 12171610 9 8
11 10 1117 3 8|5 4/6|9 1| 2]10
13 12 13[6 4 9|1 2 3|5 7 8
7 1o 7|12 5|89 7|46 3|0
8 9 8|12 7 1|4 8 9|6 3 5|9
9 10 9|96 3|7 5 1[2 8 4w
12 1o 12|58 4|6 3 2[1 9 7]t0
12 5  12[8/5/7|9/1 4[3/2/6]5
7 12 7|3 16[27 5|84 9]|w
11 7 12 114 9 2{3 68|75 1|12
13131115 4 6 4 11 13 13131115 4 6 4 11 13
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16 Fives Sudoku
Apply classic sudoku rules. Additionally, adjacent cells containing numbers whose sum or difference is 5 are
marked. Adjacent cells with no marking must not contain numbers whose sum or difference is 5.

Example Solution
o | 9 5 33219%47.8]5] 106
1 51 8(9 36|24 7
2 3 47 6915 2(9 893
olo 789218 6 49195
415 8 6 4|5 1 9|3 752
6 9 5 1|7¢2¢3|4 6 8
2/43[6 9 7[85 1
o O
7¢ | 8 19 792 8 5|6 3 4
B O B QO
o |l ¢ |9 68 5|3 401|702 9




